B. Written Computation

1. kg g 2. kg g 3.kg g 4. kg g
1 350 2 460 3 650 1 430
+2 400 +2 270 +2 180 +3 490
5. kg g 6. kg g 7.kg g 8. kg ¢
2 460 3590 2 380 4 670
+3 280 +3 170 +4 450 +3 190
% kg ¢ 10. kg g 1. kg g 12.kg ¢
4 590 5 620 6 730 5 840

-1 260 -3 280 -2 350 -1 370
13. kg g 14. kg g 15. kg ¢ 16. kg ¢
6 760 5 490 6 700 6 910

-3 580 -2 200 -4 350 -1 430

C. Mental Problems

1. )Eq 'f4ky ’ £3kg. 1 What is the total weight of the three parcels?
2. What is the total weight of the three containers? ____ @ E )@ _1"“"9
3. "tf[ 25'2)5."7 What is the total weight of three packets of tea?

4. How much heavier is the box ol cornilakes
than the box of chocllokes?

s

How much heavier is the jor of honey
than the jar of jom?

6. If o half kilogramme of sweets costs €2, how much should 15kg

of the sweets cost?



